Plan for today:
Start|1.6

Learning goals for the day:

1. Get used to scouting for useful substitutions: typical examples include equations of the form y’
=F(ax+by), y’=F(y/x) (homogeneous equations)
Be able to recognize Bernoulli equations (and solve them using a substitution)

3. Realize that when you petform a substitution your final answer should still be in terms of the

original dependent and independent variables.

Reminders:

1. HW due tomorrow on Gradescope and Myl.ab Math

2. Ungraded Quiz 0 available on Gradescope 9.30/ am today-9.30 am tomorrow.
3. Read the textbook!

4. OH today at 1pm
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